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01 = LH o4 1l 2,000 2,000 0
OS2 MHLRFE LA HI 2,000
203 YR =] 1,000 1,000 0
03 Al =AY R 1,000 1,000 0
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01 XA 2B F S| 10,000 10,000 0
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03 AlE 201 1,000 1,000 0
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01 A2 EHH| 20,000 0 20,000
OXXIZHE HAMX XNEXZAL S 20,000
D AFEY ASTA 9 10,000 0 10,000
207 I & 10,000 0 10,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OX=ME SHdESXH 9,000
d=A2EXHSUHE FIt 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
OAEHAE HIHABIXE 5,000
HdIM=SHE ZOt 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIR B = 5,000 5,000 0
OdIMAE HIHAHXE 5,000
ZEMNEUH2 &It 5,000 5,000 0
307 2201 A 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
O3gMEUS EIHBHIX& 5,000
DEZNES2ELUE 7,000 7,000 0
307 glz2tol & 7,000 7,000 0
04 QIZFHALAIH E = 7,000 7,000 0
ONd= NS d2Ua HaXH 7,000
cleHE =103 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 QIZFHALAIH B = 8,000 8,000 0
OclHE =203 XA 8,000
g3&I =703 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 QIZFHALAIH B = 6,000 6,000 0
Ogsl &I =203 HaXA 6,000
d=2=70U=2 M=z 98,000 200,000 A 102,000
307 gl2tol & 98,000 200,000 A 102,000
04 DIZHHALALSE E X 98,000 200,000 A 102,000
O&==703 Mzl XA 98,000
d=2AENHAE 24 BEUHE dL2H 6,000 6,000 0
307 glz2tol & 6,000 6,000 0
04 QIZFHALAIH 2 = 6,000 6,000 0
Od=AENE =S4 JEUHE d2H HE X2 6,000
Dt =G s 9,000 9,000 0
307 21201 A 9,000 9,000 0
04 QIZFHALAIH B = 9,000 9,000 0
Ound=z=t =4 MHEX 9,000
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deg =Y I E AEHE dEHEA 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
04 DI2ZHHALALSE E X 3,000 3,000 0
OALEZSMACHSE L 2AEHBACHY
D ESDAR-] 3,000
HdagdHS =AU S 70,000 70,000 0
< 10,000
s 60,000
307 21201 A 70,000 70,000 0
< 10,000
s 60,000
04 DIZHHALALSE E X 70,000 70,000 0
o= =3 MHEXH 70,000
< 10,000
i 60,000
sHEXN=H AEEeC O 46,000 40,000 6,000
307 glz2tol & 46,000 40,000 6,000
04 DI2HHALAISE E X 46,000 40,000 6,000
OsHdRNEH AEE2 D HAXNA 46,000
ZUMSUE 60,000 0 60,000
307 glz2+ol & 60,000 0 60,000
04 QIZFHALAIH E = 60,000 0 60,000
O=2UN=CHal JHE XA 60,000
MU SHEIKA 280,000 0 280,000
307 21201 A 280,000 0 280,000
04 QIZFHALAIH B & 280,000 0 280,000
OzZCN=Ca SHEIIBH XA 280,000
g=20&J] Or2=l 3,000 3,000 0
307 21201 A 3,000 3,000 0
04 DIZHHALALSE E X 3,000 3,000 0
O8aHI OFUHS JHEXI& 3,000
DEZ=ZEe S =203 5,000 5,000 0
307 gl & 5,000 5,000 0
04 QIZFHALAIH E = 5,000 5,000 0
ONEZ=CZH3I AU S0 =X 5,000
M =GR 105,000 108,000 A 3,000
307 glz2+ol & 105,000 108,000 A 3,000
03 QIAHNHE2IHIEE 105,000 108,000 A 3,000
OnNd=zZAN=3 2EXNA 105,000
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IHZMENSUHE 28,000 44,000 A 16,000

307 212t01 & 28,000 44,000 A 16,000
04 DIZHSHAFAIRHE 2 X 28,000 44,000 A 16,000
o&s=48 MeEdsUHa MK 28,000
dAaEgCMEHSUHEN &t 80,000 80,000 0
307 212t01 & 80,000 80,000 0
04 QIZHSHAFAIE 2 X 80,000 80,000 0
O=MEXNSUHSEHE EFIOIEHI XA 80,000
dAaYCHEAMMESH=UE &It 16,500 16,500 0
307 QI2t0| M 16,500 16,500 0
04 QI2SHALAIE E = 16,500 16,500 0
OTsxrMEM=UZ EIIZH XA 16,500
dY =223l 8,000 8,000 0
307 QI2t0| ™ 8,000 8,000 0
04 QI2tSHALAIE E &= 8,000 8,000 0
OdY 22T Ug MNa X 8,000
et HOIEZSUS 5,000 5,000 0
307 212t01 & 5,000 5,000 0
04 QIZHSHAFAIE 2 X 5,000 5,000 0
ODNdZ4Hl HOE=UE MNEX& 5,000
DEZEFEIEI £H2 WS 6,000 6,000 0
307 212t01 & 6,000 6,000 0
04 QIZISHALAIE 2 X 6,000 6,000 0
ONHZ=FEIHI F#HAAUS = XA 6,000
DEZUPEIED £H2 WS 4,500 4,500 0
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ONYZEIEI Okl OUE JNEXA 6,000
DEZE2HULALE 6,000 6,000 0
307 212t01 & 6,000 6,000 0
04 QIZHSHAFAIHE 2 X 6,000 6,000 0
Ond==tl IHLAUS MEXA 6,000

DEZ= SFU3 5,000 5,000 0
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307 212t01 & 5,000 5,000 0
04 QIZHSHAFAIE 2 X 5,000 5,000 0

Ozt E2UE MNEIXA 5,000

DEZ400 BHEQIEHU S 6,000 6,000 0
307 212t01 & 6,000 6,000 0
04 QIZESHALAIE B2 X 6,000 6,000 0

ODNHEZ4H BHEQE S NEX& 6,000

A NEUI 8,000 8,000 0
307 212t0| & 8,000 8,000 0
04 QI2tSHALAIE E &= 8,000 8,000 0

Og9sd AHdNBUHS M=K 8,000

M=3 558 sl N& 14,000 17,000 A 3,000
307 QI2t0| ™ 14,000 17,000 A 3,000
04 QIZ2HSHAFAIRE 2 X 14,000 17,000 A 3,000

OMEM= SEsEUs It XA 14,000

e T X A M=202tEWH S 30,000 30,000 0
307 212t01 & 30,000 30,000 0
04 QIZHSHAFAIHE 2 X 30,000 30,000 0

OdY XA E20IctEUS M= X & 30,000

=2 48 FE2U 3 60,000 60,000 0
307 QI2t01 ™ 60,000 60,000 0
04 QI2FSHALAIE B = 60,000 60,000 0

O&d= 449 =203 MNEXNH 60,000

AAaYCHHMSHSE &It 8,500 8,500 0
307 QI2t0| ™ 8,500 8,500 0
04 QI2tSHALAIE E &= 8,500 8,500 0

OZ&HOMAM=UE HIOIEBIXA 8,500

dg=s0te =8 e &It 1,000 1,000 0
307 212t01 & 1,000 1,000 0
04 DIZHSHAFAIRHE 2 X 1,000 1,000 0

OZdd=sotel=2Ua EILEH XA 1,000

D SEAS 10,000 0 10,000
307 212t01 & 10,000 0 10,000
04 QIZHSHAFAIE 2 X 10,000 0 10,000

ODNHdZ4t 2= MEX& 10,000

AEEIEIEI A AESZ2US 25,000 0 25,000

307 QI2t0| ™ 25,000 0 25,000




SH: 2o
Y HSXE

CHPl: HIS A X (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 25,000 0 25,000
OZG=TEAFI MaAL=EIUE HEXH 25,000
ZE ST NS S 10,000 0 10,000
307 glz2tol & 10,000 0 10,000
04 QIZFHALAIH B = 10,000 0 10,000
OZEEalZtl MEa Hxl XI& 10,000
ZEESEI =W 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 QIZFHALAIH B & 10,000 0 10,000
O3LEIEI U 10,000
25 HHERE i3l 20,000 0 20,000
307 gl2tol & 20,000 0 20,000
04 DIZHHALALSE E X 20,000 0 20,000
O&dY HELHE U3l 20,000
MBS L3 305,992 294,112 11,880
J| 115,236
< 10,975
e 179,781
HEHMSWAE2I 16,128 16,128 0
< 4,838
s 11,290
307 glz2tol & 16,128 16,128 0
= 4,838
s 11,290
02 It M AHE X 16,128 16,128 0
OdENENARY 16,128
< 4,838
[ia 11,290
MEHsZE20Y 9,792 9,792 0
< 2,937
[ia 6,855
307 21201 A 9,792 9,792 0
< 2,937
[ia 6,855
02 HIAFAAFEX 9,792 9,792 0
Oz oldsunazd 3,168
< 950
s 2,218
OFAEMEWAERY 3,168
< 950
[ia 2,218
oOF=N=sUHE2H 3,456
= 1,037
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UHME KX A X (EX) 163,648 145,728 7,920
J| 76,824
s 76,824
307 gl2tol & 153,648 145,728 7,920
J| 76,824
s 76,824
02 PIZHEHAHE X 153,648 145,728 7,920
OLBHHEHF XX Hi X 153,648
J| 76,824
[ia 76,824
MEYSNEAN 2SX(XHA) 28,800 28,800 0
307 glz2tol & 28,800 28,800 0
02 IZtE M AMHEE 28,800 28,800 0
Ot SN Sk 28,800
HEdMEMSXSA X (E2X) 76,824 72,864 3,960
J| 38,412
s 38,412
307 21201 A 76,824 72,864 3,960
J| 38,412
[ia 38,412
02 LAFAAFEX 76,824 72,864 3,960
Oz MEMSX A+ HY X 76,824
J| 38,412
= 38,412
HEMEMSXNSX S X2 (M) 14,400 14,400 0
307 gl2tol & 14,400 14,400 0
02 It HAHEE 14,400 14,400 0
OHZNMEXNSNERL ESXH 14,400
oM =Sotel K& 6,400 6,400 0
< 3,200
s 3,200
307 g1+l & 6,400 6,400 0
< 3,200
s 3,200
02 It A AHE X 6,400 6,400 0
OZ O H = SO0t K& 6,400
< 3,200
s 3,200
HEsdatAY 153,662 154,477 A815
J| 17,963
< 2,310
[ia 133,389
HEIERINEE 2,000 2,000 0
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301 et d = 2,000 2,000 0
NJIEEd=s 2,000 2,000 0
OMSTERSNH HFE 100,000& 10 1,000
OuNE=ERSA HF 100,000& =10 1,000
NERAEAEEZY 12,000 12,000 0
307 21201 A 12,000 12,000 0
02 UAFAAFEX 12,000 12,000 0
OndRAaAd OIE 22X& 12,000
A2 0I2SAH MY 25,662 26,477 A815
J| 17,963
< 2,310
s 5,389
307 glz2tol & 25,662 26,477 A815
J| 17,963
< 2,310
s 5,389
02 It MAMHEE 25,662 26,477 A 815
OAZ=2E 0l2EA A Y 25,662
J| 17,963
= 2,310
[ia 5,389
MEdELUR2SS 24,000 24,000 0
307 glz2+ol & 24,000 24,000 0
02 HAFHAANGFEE 24,000 24,000 0
OME=xaURsSLEXNE 24,000
MsIMes XA 90,000 90,000 0
307 21201 A 90,000 90,000 0
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